ASSESSMENT SCHEME

Mathematics Class12th -2014 & onward

Time: 03:00 Hours Marks: 100
MCQs Short Answers Questions Short Answers Questions
ch Woliitacs BB alA Allotted marks = 15 Allotted marks = 36 Allotted marks = 36
zo. Chapter name mo % & o tharke Questions to be asked = 15 Questions to be asked = 27 Questions to be asked = 27
N 8 Questions to be attempted =15 | Questions to be attempted = 18 Questions to be attempted = 18
K U A Total marks K U A Total marks K U A Total marks
1 Function and Limits 7% 11 1 1 - 2 1 1 - 4 1 - - 5
2 Differentiation 21% 30 2 2 1 5 4 5 1 10 - 1 - 5
3 Integration 25% 36 3 3 - 6 5 4 1 20 - 1 1 10
a Introduction to Analytic 12% 17 1 - 1 2 3 2 s 10 ) i 1 5
Geometry
s Linear _:mn.:m_:_mm and Linear 7% 10 1 % £ 1 1 3 1 a ) D 1 5
Programming
6 Conic Section 14% 20 1 1 - 2 2 2 - 8 & 1 - 10
7 Vectors 14% 20 1 - 1 2 2 1 1 8 - 1 1 10
TOTAL 100% 144 20 74 20
Important Note:-
(i) K= Knowledge. U= Understanding / Comprehensive A= Application & Analysis

(iii)

i) This scheme of assessment is prepared as per 33% choice in short answer questions and essay type questions.
i In order to promote the cause of concept based learning at least 10% questions must be unseen or of daily life but relating to specified learning outcomes of
curricula and syllabi. This portion will increase @10% annually but not more than 30%.
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Model Paper Intermediate Part Second Session 2012-14 & onward

@)
MATHEMATICS ( Objective )
Time: 30 Minutes Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

Q.No.1 will result in zero marks in that question. Attempt as many questions as given in objective type question paper and

leave others blank. Write the letter A, B, C or D in the column (write correct option) against each question. If there is
a contradiction in the bubble and hand written answer, bubble option will be considered correct.

S.# Questions A B C D
1 )E’lgl(t) Sindx, is equal to: 1 Zero —;— 5
Iff(x)= , then function is said to
2 A W e —-f(x) f(—x) f(x) None of these
d : 1
—_ » 2
3 i (logs x) is 5/nx 1 5logsx <05
Limit f(x+0x)—f(x ! ; ’ ;
R ( 5}3 () '(x) f'(a) £(2) £'(0)
d -1 1 =1 1 1
5 ——(sec. X)= i
dx( ) X\/Xz—l X\/Xz—l 1+x° s
d x ax fna 5 »
6 s (@) i o% a"fna a
2w x> . x*
- : A X—T+?+ ..... B 1- o +—4!~+ .....
7 Maclaurins expansion of /n(1+x)= y = 3 .
X X X X
& . G N = ? ..... D X T + T A
T
8 | [Sinxdx=: 1 2 0 o
=
etan_1 X S L5 -1
9 _[ _— dx =: 6 L #E B sl e™* +c g R
b b a -a -b
10 J.f(x)dx=: —J‘f(x)dx —If(x)dx J.f(x)dx - If(x)dx
a a b -b -a
1
11 A Vx2 +a B T
I zdxz i Mm@+ Vx“+a° )+c Zn(x+\/x2—a2)
X" +a 1 -1
C In(x+Vx*-a’)+c D —tan %+c
If ¢'(x) =f(x), then ¢(x) is called i Differential
12 b El%) . Derivative Integral coslBeigt Area
2 )
13 J‘(\/;_\/l;j dx =: %x2—2x+c %xz—énx+c xz—x+€nx+c XT—2x+€nx+c
14 LR (%A wp g cooTNge Coordinates Ordinate Abscissa Origin
system, then x is called:
15 The .cenFrmd of a.trlangle divides each -1 31 3.9 3.4
median in the ratio:
16 | x=-1 is the solution of the inequality: 2x+3 <0 2x+3:>0 =250 - 2x+1>0
The radius of circle
F 2 30 B ag 3 el 1
1 x2+y2+2gx+2fy+c=0is: gl -0 B L vy B Ee gl
18 | Which one is equation of point circle? %" y2 = 7 s y2 =4 1 + y2 =0 x* + }'2 =-1
If the vectors 2i + 43 ~7k &
19 1 2f4 63 +xk are perpendicular then 8 2 1 4
X= :
The work done by force F through
20 | i |F||d|tan® Fd SecO FdSin® F-d
displacement d is: .
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Model Paper Intermediate Part Second Session 2012-14 & onward NN}
MATHEMATICS  ( Subjective)
Time: 02:30 Hours Marks: 80
SECTION —1
2. Write short answers of any EIGHT parts: 16
(i)  Prove the identity: Cosh? x)- Sinhz(x) =1
. Lim Sinx°
(ii)) Evaluate a0
(i) If y= L2k +2 , prove that g—i =4x,/y -1
: o o OY s 2
Find — =
(iv) Find o if xy+y =2
Gy - Bind 2 i = Simepad ot x oL
dx 2
(vi) If tany(l+tanx)=1-tanx, show that ?i_)}: =-1
(vii) Differentiate Cot™ % with respect to x.
(viii) Find g—i if y= ﬁ
(ix) Find f'(x) if f(x) =(x+1)*
(x) Find stationary points for the function f(x)=5 x2 —6x +2
(xi) Define increasing and decreasing function.
3,
(xii) Find y, when y=(2x +5)2
3. Write short answers of any EIGHT parts: 16
(i)  Using differentials find g—i and g—; if xy—/nx=c

(i) Evaluate j Wx +1)% dx

dx

(iii) Evaluate j X
4+x
’ 5 Cosx
Find [o—S25%__ 4
) = ISiannSinx "
(v) Find J' nx dx

(vi) Find je"‘(cOsx —Sinx) dx
(vii) Find J‘tan4 x dx

2
X2 bt |

(viii) Find j —dx

2
(ix) Find j (x% +1) dx
1

(x) Find area bounded by y = Cosx from x = —% torx = %

(xi) Graph the solution region of linear inequality 3x —2y > 6 in xy-plane.
(xii) Define an objective function and optimal solution.
4. Write short answers of any NINE parts: 18
(1)  Find the coordinates of the point which divides internally the join of A(-6,3)and B(5, —2) in the ratio 2 : 3.
(i)  Find h such that point A(-1,h), B(3,2) and C(7,3) are collinear.
(iii) Convert the equation of straight line 2x —4y+11=0 into two intercepts form.
(iv) Find the point of intersection of the lines x +4y—12=0and x-3y+3=0

(v)  Find the lines represented by 3% 4 Xy + 2y2 =0
( Continued P/2)



http://www.result.pk

(D
o
(vi) Find the center and radius of the circle 5x° + Sy2 +14x+12y-10=0
(vii) Find equation of tangent to the circle L y2 =25 at P(3,4).
(viii) Find focus and directrix of the parabola x2 = —-l6y
(ix) Find eccentricity of the ellipse 25x% + 9y2 =225
(x) IfOis the origin and ﬁ) = E , find point P when A and B are (-3,7) and (1, 0) respectively.
(xi) Find o, so that |ai+ (o +1)j+ 2k |= 3
(xii) Find scalar A so that the vectors 2i + 7»} +5k and 3i+ 3 +2k are perpendicular.

(xiii) Prove that ax(b+c)+bx(c+a)+cx(a+b)=0

SECTION —1I Attempt any THREE questions. Each question carries 10 marks.

. (a)Prove that XLir)nO a—xx_—l =log.a

(b)If x =aCos’0, y = bSin’0, show that ag—i +btan0 =0

. (a)Evaluate I x-Sin"'x dx

(b)Find the distance between the parallel lines 12x + 5y — 6 = 0 and 12x + 5y + 13 = 0. Also find the

equation of the parallel line lying midway between them.

s ” . dy 3X2
. (a)Solve the differential equation s = 4788
X

(b)Minimize z = 3x + y subject to the constraints 3x+5y =15, x4#6y>9 , x20, y>0

+x-3 ify=0whenx =2

. (a)Find equation of circle passing through A (3,-1),B(0,1) and having ¢enter at 4x-3y—-3 = 0

(b)Prove that the line segments joining the mid points of the sides of a quadrilateral taken in order form

a parallelogram using vectors.

. (a)Find the centre, foci, eccentricity, vertices of hyperbola 9x” +12x — y2 -2y+2=0

(b)Find the volume of tetrahedron with the vertices. A(2,1,8),B(3,2),C(2,1,4)and D(3,3,0)
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